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What is an ODE ( ordinary differential equation)?
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What does it mean to " solve "

an ODE ?

It order : A function ysyltl is a Solution
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for all t on some interval .
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Example . ysttt is a solution of y 's HII .
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General Solh of ODES

Example What is the most general solution

of the ODE y 's locosCat) ?
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That  is every solution  is of this form .



Initial Value Problems (

IIP)
First order initial value problem 
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Second Order Initial Value Problems :
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https://physics.stackexchange.com/
questions/159021/why-is-the-harmonic-
oscillator-so-important
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